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_________________________, the defendant in this case, has been charged with the crime of harassment in the second degree.

To prove that the defendant committed this crime, the state must prove beyond a reasonable doubt each of the following elements:

(1) The defendant [insulted, taunted, or challenged another person in a manner likely to provoke an immediate violent response][telephoned another and failed to terminate the connection with intent to impair the ability of that person to place or receive telephone calls][made repeated telephone calls at extremely inconvenient hours][made an anonymous or obscene telephone call, an obscene electronic communication, or a telephone call or electronic communication that threatened physical injury or sexual contact][subjected another person to offensive physical contact][published or distributed electronic or printed photographs, pictures, or films that showed the genitals, anus, or female breast of the other person or showed that person engaged in a sexual act][ repeatedly sent or published an electronic communication that insulted, taunted, challenged, or intimidated a person under 18 years of age in a manner that placed the person in reasonable fear of physical injury].; and

(2) the defendant did so with the intent to harass or annoy another person.
USE NOTE
The following terms are defined in another instruction: 


"intentionally" – AS 11.81.900(a)(1)
“physical injury” – AS 11.81.900(b)(46)
Alaska Statute 11.61.120(a)(4) includes within the definition of this offense anonymous telephone calls made with the intent to harass or annoy another person. In McKillop v. State, 857 P.2d 358, 364 (Alaska App. 1993), the court of appeals found that this portion of the statute is only constitutional if it is construed to include the requirement that the defendant’s only intent was to harass or annoy. If a defendant is charged under this subsection with making anonymous telephone calls, Pattern Instruction 11.61.120(a)(4) must be given to comply with the decision in McKillop.

